5 f 2060
i O B T SLLETL ) o ) g 00090 £ 0¢ © oioe0 |
- T€L8 9l - 60SEL LUt 519681 N - o 00020 £0€ 1 1 ot011
B ; 19181 € B £EPS1 I8 - ) P6'SEE S6 3 00020 £0€ b |11 0000000000 TO60
T - 1569 € - L85 01 LV 6LT - 00020 €05 I |0 110000000000 1060
i - FLT8E 9L - 0T 16k T1% - F6SI8810 - ) | Y]
i vLE60 T = & = FL'E60 T il 000 10 €0¢ 1 110000000000 TO60
- 0°LLT 8S i 68'0€6 651 68 LOF 81 F B - 000 10 £0¢ 1 1110000000000 TO6O
i 0018 €1 = 1€096 T8 - 1€'7LE 86 & 3 - )0 10 €08 1 1L 0000000000 1060
VTS §S - LG'6LT #SS 0T'16% ThS K480 Tt6 9 L 14199 L9t ¢ 3 - ] B
0103911 otoLp|
- 00 1L8 L1 - 08121 9L1 | | 087266 €61 1 - - - 000 PE 208
¥ 00°68L 8 - 06'9TL 06T [T 0611 66T = = 3 000 FE TOt b
- 000019 - S6ISTILS 08 |se'bszoss - - g 000 €208 1 [11T
E 00986 T - S6'6ET L1€ S6STTIE S6'STTHIE 5 E S 000 V£ T0€ ¥
F 1T0LT ST 3 9€°€LT 0T LS'EVD SEE LSEbh SEE e = 4 000 9T 0% 1
) - 3 - TH8IT €01 THBIT €01 TH8IT £01 : 5 g 000 9T 20 I
) = 8 g 88'678 TE1 88'6T8 TE 1 88'678 T€1 2 5 P 000 9T TOE b
= 12°0L1§1 : 90°561 18 LT'S9E 66 LTS9E 66 3 g B 000 9T 0§ |
- 3 - 61719 LEI 61'TIO LET 61TI9 LEL - - i 000 ST 0§ |
3 = = LTYSL 1Y LTYSL 1Y LTYSL 1Y - - : 000 ST TOE 1
- . - T6'LS8 SO T6'LS8 6 T6'LS8 S6 - . 3 000 ST T0¥ |
g 7 - 01'1T6 501 E1'1TE LLE €128 LLE > s L6'T09 8T 000 €2T0E 1 [|mand Ao ¢
- - 5 9T'LZ$ 06 81°086 L8 81°086 L8 - - 80°LYS T 000 €T T0E b [PhT
- = 5 q 18'96€ S 1 S6'01E 68T S6°01E 68T = - 68°550 9T 000 €205 1 [11Tc
3 00°058 1 N T1'90T 16 T1'950 96 T1'950 96 o = = 000 TT TOE ano A1
- 007058 [ - TI90T 16 TI'950 96 TI'950 96 3 = 3 000 TTTOE b [MhEe
- 10°T10 ¥1 i m 10°T10 ¥ 10°T10 ¥1 & ® I 000 £1 208 ¥ 1210 Al
) : 10TI0 #1 P - 10°T10 b1 10°T10 ¥l - - - 000 £1 0% | 1 2060
S SL9LT S0 0T 16b THS V8916 LOS | 0S°TS1$66 b 6S'ETTEIES g s 2 000 11208 1 |Jam &1 |
= TE'ET0 LOE 68°0€6 65 8E91T01L € 19'890 669 € OLGETLI0 b - g P 000 TTTOS I [I11¢
- £1°€ST 861 1€°09S 78 9K0€8 L60 | 68°€80 96T | 68°€80 96T | - = K 000 11T0S b [T11¢ B
[ [ 1l [ 6 8 L 9 S 14 € % |
1a19noed 1a19nond — SSp——
Honodyodin KeHhodooarrol SIGHRKIHANIH JIGHDKIHINIIH
SinaR aRol JIr9HK WOL 8 [ONERES JIr9Hh WOL 8 [RERES daodit daoarror?
] XHH £H SHHIMIHIWA QHHIhHIAL IXHH €H 01208

0

RI7OMdS1I 0JOHLIRLO T1OHOY BH

HLOOHHIMNArONeE QHHIHIWEH

BIfOJ OIBHEH BH

9Ad ‘HLIOHHIMAIOTRE BINWAD

IOKA 010N
vLan) (1t0x) dawor |

nioonukrrores (poxodormrady) yoxrodorngal o KHHINAYY) |

(swiodoti>d  swiodoLgat)

EHHEYRE (010

) OJOHHAAL0ARY K201 AHHAHIFOIIH BH EITID0KD

sUHINKIAKA HLdoHHMNKIroreE HodddoLnrady H Hodd01LHYIN o1 BHHINIH))

sexndorniiady

HLOOHHIXIOXBE THY

(EHHORAIIIQO 0I0TOIHRHH( YYHE) HIJOHTIrALEAY WHE]



8 L 9 S 14 £
OIMHRHOHIO
Awogogedu ont K
KHHIHIKOLI (W] QHHRE OHIWHRH HHU KHHOHIFOLIOH | | OIS ON
BHHEA0£RdQO 19HHKHA] | (downirady) dowmgayy eLeyf
L'LY6 ILE x: 9L'LY6 9LE 3 W 25 s TS'SO8 £/
SEEEr L8 X SEEEr L8 & X X 0L'998 I/
PP 1S 68T *x I¥'F1S 68T * - = X T8'8T0 0L
PLOOT bLS TS e T8'60T TES L 95°019 €L 0T % X D0°00L THY K
PEELLLOY € x 99°9TT TTE ¥ 00000 06¥ 1 % ¥,
98'TSS bEE bE X TO'T6T SHES b 88'Er1 6.5 S1 X
PSPLL 19 €1 ® PIT6L 91T & 89°99F 159 € % a5
Ll L) T1'689 808 0T 16 THS SSILYSST6 TE06S 61 L 0L'LSS §€6 6 o
98801 T - £6'996 1t 3 GL'SLE b -
98801 T i £6'996 1t % 6LSLE b -
98°L80 T = £6'896 T€ = 6L°950 S€ i
00°12€ = 00'866 8 r 00°61€ 6 =
67001 TST 2 12°0Tk 1L1T 2 05°0TS €TK T =
- = 00°000 08T i L0000 08T .

okd

WA, )

|
[

101
1) dowor |

a0y yormanodoodu o kunavau) ‘g

000 09108 O

NIRRT

Lo
(I ol l
[ ovl
(T Ll




